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1. SR/ & @ o ¥t o Teq forgp 4x4=16
Answer any four of the following questions :

(a) T TTFR R TG WF XU T
JNEEH 10 WIF 8. *FT®T HBE T Sfrea |

The arithmetic mean and geometric
mean of two observations are 10 and 8
respectively. Find the values of the
observations.

(b) ﬁm@mmﬁmﬁwmzhww
L2l

Define coefficient of variation. Mention
its two uses.
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(2)

(c) I efte TEEE geael e & e ? 'R
ORGSR

What do you mean by long-term
movement of time series? Give two
examples of it.

(d) e N @ Rew R TR-aifeEm AR
sl

Prove that Fisher’s formula satisfies
time-reversal test.

(e) “TRma’ e &332 Ffdege TR 101 IS
TeEy 41
What do you mean by ‘regression’? Write
two uses of it in business.

() EReR @ INe AF BT 4 o1 o |

Write the additive and multiplicative
laws of probability.

2. (@ (i) o fvere Rvgaed e et et e o1ep
9| 4

Why is standard deviation considered
to be the best measure of dispersion?

(ii) oot T RreTee q1C3 Ted T4y Sfered : 5

Calculate arithmetic mean for the
following distribution :

1 (Class) 0-10 | 1020 | 20-30 | 3040 40-50
Rl (Frequency) | 8 78 5 11 9

P25/425 ( Continued )




(3)

(iii) T=e FE RemEms I R Tfee 7
Calculate variance for the following
distribution :

|
779 (Marks) 30—40|40-50 | 50-60|60-70|70-80
B4 3971 (No. of Students) 4 5 2 6 8
| 22/ / OT‘
(b) () @99 nb FERE WIR AW Roe
Tferedr | 4

Find standard deviation of the first
n natural numbers.

(i) ©eTe T TR R AR Ofered ¢ 5
Calculate median from the following
data :

1@ (Class) 10-19 | 20-29 | 30-39 | 40-49 | 50-59

557191 ( Freguency 7 l» 6 9 S 8

(i) T T e 79 e g et : i

Calculate coefficient of variation from
the following distribution :

5l

Vq@( ) 100-200/200-300| 300-400]400-500|500-600

Wages (T)

RESE. 4 5 6 3 7

No. of Persons |

3. (@) () “=EE T R T AL G 4
Distinguish between correlation and
regression.
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(iii)

(b} )

(1)

(iii)

P25/425

(4)

oS fral BUR o[l XJ 8RS Y I SARET
e Slrea oF X =252, YI TN
Sferear :

Find the regression equation of Y on

X and estimate Y, when X =25 from
the data given below :

X |20(30|35]|40| 50
y|15|20])10]35]|25

w51 77e &fb «oF STHCS e T A 1 I
of TR (e FAICIVR AF 10
@R el T |

Two dice are thrown simultaneously.
Find the probability of getting the
sum of numbers to be 10.

"'1’3\%; / Or
o e 991 ¥
Prove that
-1gr(X,Y)<1

wos Tl OUR o1 STOTER R0 Sfee ¢

Calculate coefficient of correlation
from the data given below :

x (10]12]| 15| 18| 20
yi7 110} 5 4 112

o SRSl 3% TR TRy o

Mention the properties of normal
probability distribution.
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4. (a) () m‘@fﬁ“@g%?%{@qm@
<< oEd ¥4 4

What do you mean by consumer price
index number? Mention two uses

of it.
(i) @M T @ IR R T
R B 01 | 5

Prove that Fisher’s formula satisfies
factor-reversal test.

(if) TT© A TXR W TEER T OPIRT
Tferedr : 7
Calculate Fisher’s price index number
from the following data :

1 Rfesss |  oPeIm
25 | Base Year | Current Year
‘ ftem = wex bail o314
} | Price | Quantity Price | Quantity
i ! =
| A | 5 10 8 12
| B | 10 E 12 5
c | 7| 6 8 i
w1231 / Or

b () Tz ope W R weRd
TRTR TEY ¥ 8

What are the different types of index
number? Mention the uses of each of
them.
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(i) w7 fim) AR o[ &iaw I IW PR

Tferea : 8
Calculate cost of living index number
from the following data :
e fofe 59 770 5fer® T4 7 o[
fem | Price of Base Year | Price of Current Year Weight
A 25 28 10
B 30 35 8
C 20 18 2
D 50 45 5 A}
5. (a) (i)wmﬁiﬁm&%wmm
&2 4
What are the different models used in
time series analysis?
(i) TEST INTIT TafOT OO i =Y AR
ool AR AT 0 7
Find the trend equation by the
method of least squares from the
following data :
=9 =
1960 | 1965 | 1970 | 1975 1980
Year
Ty
_ 42 48 45 40 50
Production |
(i) ¥ fameR SR B 5
Write the objectives of time series
analysis.
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(7))

391/ Or
(b) () ¥3® ke Rfen IRPMR TwreanE
RUSUS IR 4

Explain different causes of seasonal
variation with suitable examples.

(i) TS 1 O AT 4-I=IT1 578 S ferer: 7

Calculate 4-yearly moving average
from the following data :

=Y

2000 | 2001 | 2002 | 2003 | 2004
Year
v

4 7 5 6 9

Price
rm

2005 | 2006 | 2007 | 2008
Year
¥

1 10
Pri 0 8 12

(i) FT= 7 Roers e wieer R qfb

et e | 5

Write a note on random variation in
time series analysis.

* % %k
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